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The attached list highlights topics which are in our understanding ambiguous and probably need clarification, in order to avoid different implementations.  


We would like to ask all interested delegations to check whether they see a need for a clarification on any of these topics.�
Questions regarding 04.64





What is the correct behaviour of an LLE in the following situations?


After transmitting a SABM command frame with l3 parameters the UA response frame does not contain an inforamtion field (or an inforamtion field without l3 parameters).�Proposal: Ignore the UA frame


An LLE in ADM state receives a SABM command frame without l3 parameters (re-establishment by the peer entity). Shall the receiving LLE pass an LL-EST-IND (but without data!) to l3, send an UA response and enter ABM state? �Proposal: Ignore the SABM


When encoding XID parameters (see. 6.4.1.6): Is it mandatory to set the value of Length according the related type in table 6, or may Length be set to a lower value if the length of the value is smaller (e.g.: Type=2 -> Length=4, IOV-I value = 0x00000005; shall Length be set to 4 anyway or  shall Length be set to 1)?


When decoding XID parameters (see. 6.4.1.6): table 6, Format parameter: If Format equals e.g. 0000bbbb, how shall an LLE behave, if the received value equal 1000bbbb?


XID negotiation: SNDCP may pass up to N201-U octets to LLC for XID negotiation of l3 parameters. If the LLE wants to transmit some LLC XID parameters also, the length of the information field may exceed the maximum allowed value N201-U and the receiving entity will return a FRMR response.


re-establishment: after transmitting a SABM command without l3 parameters the LLE receives a UA response with l3 parameters. Shall the LLE receiving the UA �1. ignore the UA, or�2. treat the UA as UA frame without l3 XID parameters, or�3. pass an LL-EST-IND to SNDCP?�Case 3. seems to be a problem because SNDCP would respond with an LL-EST-RESP which is not intended!


P/F bit: If a SABM or XID command is received with P set to 0, shall those frames be ignored?


receiving acknowledgements: the behaviour on receiving acknowledgements with invalid N(R) is specified in 8.6.3.1 and 8.6.3.2, but not the case where N(R) is valid while N(R)+1 or the SACK bitmap is invalid. Same reaction as if N(R) was invalid?


The MS initiates an XID negotiation while in ABM state and is then suspended by GMM before an XID response frame is received (T200 will not be stopped!). If T200 expires the LLE has to retransmit the XID command according to 8.5.3.4 in contradiction to 7.2.1.4. which states that the MS is not allowed to initiate XID negotiation while suspended. So what is the correct behaviour?�Suggestion: The MS suppresses the retransmission but increments the retransmission counter. Drawback: If the SGSN then initiates XID negotiation without l3 XID parameters, the MS ignores the XID command according to 8.5.5.1. which delays the negotiation process.


ciphering: if more than 511 UI frames get lost (is this scenario quite possible - or not, due to higher layer protocols?) the overflow counters in the MS and SGSN differ by 512! So the decipher algorithm will return an output different from the original input stream which causes the FCS check to fail. As a consequence the UI frames will be ignored. The overflow counters are asynchron until the GMM re-attaches.


Do repeated I+S frames have to be ciphered with the same overflow counter (oc) as used when transmitting the origin frame? (yes!)�The entity which deciphers the incoming UI or I+S frames has to take in account an out of sequence or re-transmitted delivery! �Example: An LLE receiving an UI frame with N(U) = 510 has to use the actual oc as decipher input, let’s say oc = 0.�If it then receives N(U) = 1, oc has to be incremented by 511, so oc = 512.�Now the LLE receives an (out of sequence) N(U) = 511. The previous oc has to be used (oc = 0) to decipher the frame!�When then receiving the frame with N(U) = 0, oc = 512 as the be used again.


Transmission of multiple command frames with P set to 1 (without the expiry of T200 etc.) is prohibited (8.2).�Shall an LLE receiving e.g. an XID command frame with l3 parameters and P set to 1 (the LLE is then awaiting an XID-RESP from SNDCP) followed by an SABM command frame without l3 parameters and with P set to 1 ignore the SABM frame?
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